LECTURE 31: Spin 1/2
What I expect you to learn:
-What is "intrinsic spin"
-What is a gyromagnetic ratio

-How this relates to the Stern-
Gerlach results

-What are the relevant operators for spin

-How to derive and work with
the Pauli matrices (example problem)

(Roughly covers chapter 6.8 of the textbook)
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Consider a charged sphere whose rotation
axis is at an angle 6 with respect to the z

axis 4
m/
By applying a magnetic field B along the z

direction, the sphere will start to precess
about the z axis
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